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Precalculus
Cumulative Review #6 Due:

Directions: Show all work for full credit. Correct answers without supporting
work will receive 1 credit.

1. State the amplltude and perlod for the functiony =6 Sln-g-
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2. If a pulley is rotating at 16 revolutions per minute, what is its rate in radians
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3. Find the angular velocity of the minute hand of a clock in radians per second
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4. Write the equation 4x +y = 6 in normal form. State the length of the normal
segment as well as the measure of the angle made by the normal segment and

the positive x-axis. (f“) . 68 4o
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5. Solve triangle ABC given A =36°, b =13 and c = 6. Round angle measures to
the nearest minute and side measures to the nearest tenth. 4 oo Nl B
(3% 59 - 2fm)B87YCes ©

}’“ = b+ ctm 2bccos A
,:ifmw@ji& AW (30 2(9)(0) Cos 36 \}z)%“ﬁ.m ;
“,*« a** A6S — ISbcos 3o | :\ L’(%@ﬁ‘
- {,’i/"— LO0S — [ 2. 7( LeSH f L’; /}(/ Aﬁ%
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7. Determine the equatlgn of the slant asymptote for f(x) = x4 2x3 .
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8. Simplify the expressmn el
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10. Find Arccos PR (Remember “A” in Arccos means something)
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11. Solve AABC if A=21°15", B=49°40" and c = 28.9. Round angle measures to
il

the nearest mlnute and side measures to the nearest tenth
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12. Find four other pairs of polar coordinates that represent the same point as
4,457 (-4, 235)
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